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Glossary for Mark Schemes
GCSE examinations are marked in such a way as to award positive achievement wherever possible. Thus, for GCSE Mathematics papers, marks are awarded under various categories.

	M
	Method marks are awarded for a correct method which could lead to a correct answer.

	
	

	A
	Accuracy marks are awarded when following on from a correct method. It is not necessary to always see the method. This can be implied.

	
	

	B
	Marks awarded independent of method.



	
	

	Q
	Mark for Quality of Written Communication (QWC)

	
	

	M dep
	A method mark dependent on a previous method mark being awarded.

	
	

	B dep
	A mark that can only be awarded if a previous independent mark has been awarded.

	
	

	ft
	Follow through marks. Marks awarded following a mistake in an earlier step.

	
	

	SC
	Special case. Marks awarded within the scheme for a common misinterpretation which has some mathematical worth.

	
	

	oe
	Or equivalent. Accept answers that are equivalent.

eg, accept 0.5 as well as 
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Unit 3  Foundation Tier

	Q
	Answer
	Mark
	Comments


	1 (a)
	C, E, G, H
	B3
	B2 for 

3 correct (and 1 incorrect)

or
2 correct and none incorrect

B1 for 

2 correct (and 1 or 2 incorrect) 

or
3 correct and 2 incorrect

or 
1 correct and none incorrect

	1 (b)
	A, B, F
	B2
	B1 for 2 correct (and 1 incorrect)

	1 (c)
	D
	B1
	


	2 (a)
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	M1
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	A1
	

	2 (b)
	2 and 8 seen

or 
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or 
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 seen
	M1
	oe



	
	25 (%)
	A1
	

	2 (c)
	25%, 
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, 30%, 
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	B2
	B1 for 2 or 3 correct and 0, 1 or 2 incorrect 


	Q
	Answer
	Mark
	Comments


	3
	6 × 5 × 3
	M1
	

	
	90
	A1
	oe

	
	their 90 × 4.5 or 405

or
 their 90 × 3 or 270

or 
4.5 − 3
	M1
	

	
	their 90 × 1.5
	M1
	oe

	
	135
	A1 ft
	


	4 (a)
	North-east
	B1
	

	
	South-east
	B1
	SC1 for NW and SW

	4 (b)
	Correct position marked
	B2
	B1 for each criteria met


	5 (a)
	10 × 18
	M1
	

	
	180
	A1
	

	
	£1.80
	Q1 ft
	

	5 (b)
	24 seen or 
	B1
	Allow their 24 × 10

	
	4 seen
	B1
	Allow [3.9, 4.1]

	
	their 24 × 10 
or  240
	M1
	

	
	their 16 × 20 
or  320
	M1
	Allow their (4 × 4)

Allow [15, 17]  

	
	5.60
	A1 ft
	


	Q
	Answer
	Mark
	Comments


	6 (a)
	All 3 points correct
	B2
	Need not be labelled

B1 for 2 points correct

	6 (b)
	D plotted at (x, 3) where x ≠ 4

or (3, 1), (5, 5) or (6, 7)
	B1
	Where BC parallel to AD 

D plotted on line y = 2x − 5, where AB parallel to DC

Shape not required

	6 (c)
	(5.5, 9)
	B1
	

	6 (d)
	(6, 8)
	B2
	B1 for two criteria met

B1 for 3, 6, 9 seen or 0, 3, 8 seen


	7 (a)
	6 (cm)
	B1
	Allow [5.9 cm, 6.1 cm]

	7 (b)
	Centre marked 
	M1
	eg 2 diameters drawn

	
	(2, 1)
	A1
	

	7 (c)
	Tangent drawn
	B1
	

	7 (d)
	cm ²
	B1
	


	8 (a)
	1.5 seen
	M1
	

	
	(£) 2.85
	A1
	SC1 129 seen

	8 (b)
	86 ÷ 16
	M1
	Allow 90 ÷ 15

	
	86 ÷ 16 × 5
	M1 dep
	Allow 90 ÷ 15 × 5

	
	[26, 30] (pence)
	A1
	Must be an integer


	Q
	Answer
	Mark
	Comments


	9 (a)
	2x − 1 = 11

or x + 4 = 11
	M1
	

	
	2x = 12
	M1 dep
	

	
	6
	A1
	

	
	7
	A1
	

	9 (b)
	10 seen or 13 seen
	B1 ft
	6x + 6 seen   oe

ft their greater side

	
	11 + 11 + their 13 + their 13
	M1
	6 × 7 + 6

	
	48
	A1 ft
	SC2 for 42


	10 (a)
	23 ÷ 50 × 100
	M1
	oe

	
	46 (%)
	A1
	

	10 (b)
	200 ÷ 13.3
	M1
	

	
	15
	A1
	

	
	9 ÷ 25 (× 100)
	M1
	oe

	
	36%
	A1
	

	
	Yes
	Q1
	Strand (iii) conclusion based on their answers

Dependent on M marks


	11 (a)
	Two values with a product of 4800
	B2
	eg 40 and 120

160 and 30

B1 for 40   or 30   or 4800   or 19 200 seen

	11 (b)
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 seen
	M1
	4800 + 7680
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	M1 dep
	oe  
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[image: image14.wmf]7

20


	A1
	


	Q
	Answer
	Mark
	Comments


	12 (a)
	180 − 148
	M1
	

	
	32
	A1
	

	12 (b)(i)
	32
	B1 ft
	

	12 (b)(ii)
	(Vertically) opposite
	B1
	


	13 (a)
	Correct reflection
	B2
	B1 for any reflection 

	13 (b)
	Rotation
	B1
	

	
	90° clockwise
	B1
	oe 

Accept 
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 turn clockwise

	
	(4, 3)
	B1
	


	14
	7 seen 

or π × 7 × 7
	M1
	oe allow 3.14...

	
	π × 7 × 7 × 12
	M1
	oe allow 3.14...

	
	[1846, 1848]
or 588 π
	A1
	[1846, 1848]


SC1 π × 14 × 14 × 12

	
	1850
	B1ft
	


	15
	6  ² + 12 ²
	M1
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	M1 dep
	

	
	13.4...
	A1
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